
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.066:1-3, page 256 
 

Last update: 22-10-07 

Remarks: See §4.9, pages 203 till 208 
 
Answers 4.66-1:  
 
a.  51 mmtk =
b.  b 85 mmk =
 
Explanation 4.66-1:  
 

3 264,8 10  mmA = ×  
6 4743,58 10  mmzzI = ×  
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Answers 4.66-2:  
 
a. t 78,9 mmk =  
b. b 45,7 mmk =  
 
Explanation 4.66-2:  
 

3 272 10  mmA = ×  
6 4749,952 10  mmzzI = ×  

 
6 3

;t 3, 289 10  mmzW = ×  

6 3
;b 5,681 10  mmzW = ×  

 
 
 
Answers 4.66-3:  
 
a. t 40 mmk =  
b. 80 mmbk =  
 
Explanation 4.66-3:  
 

3 2108 10  mmA = ×  
6 41036,8 10  mmzzI = ×  

 
6 3

;t 8,64 10  mmzW = ×  

6 3
;b 4,32 10  mmzW = ×  

 


